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3 A bookshop sells books at two prices.
Hardback books cost £12.50
Paperback bdoks cost _é;S.iS
WHat is the cost of éach baokito the nearedt
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A bookshop sells books at two prices.
Hardback books cost £2349 .
Paéerl: ack bdoks cost £8.89
What & tHe costiof each bookto theinearest
pound? ' -
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w7 A bookshop sells books at two prices.
ol oo Hardback books cost £8.99

Ciiié'i b b Paperback books cost g345 1 1 1
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Lo A bookshop sells books at two prices.
£4.63+7?=£10 e Hardback books cost £12.29

9L, Pa;eréac' bdoks cost £2
What is the cbstiof each bookito thejnearest
pound? 1
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A bookshop sells books at two prices.
£7.74+?=£10 Hardback books cost £6.39
4 : 5 PaperBack books cost £3.75
What is the costiof dach boolcto theinearest
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